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T. - “ i Uf If Utr Up I, ‘ Ip i Ug max Ig max tmin—max
1 VoA Y V | mA | mA v mA °C
BT 69 BTH 5120 | 15000 | 15000 | 12500 | 75000 1000 | 41535
DCG5/30 | Phi 5(30 | 13000 | 13000 | 6000 ; 25000 | 50250 | +25+ 455
DCG7/100 | Phl | 3 | 520 | 15000 | 15000 | 10000 | 45000 |  --600 +25+ 465
RSQ75/25 T 1 |5 |10 7500 2500 | —320 30+150
RSQ1S5/5 [T | 2 |5,20 15000 5000 | —600 500
RSQ15/10 ‘T 3 |5 120 15000 10000 | —600 1000
$7,525d | AEG 1 ;510 | 10000 | 10000 | 1250 | 5000 @ —320 304150 | +15+ 435
S15/5d eur | 2 |5/19 | 15000 | 15000 | 2500 | 10000 | 600 402200 | 15+ 435
S15/40 i eur | 3 |5/20 | 15000 | 15000 | 12000 | 40000 | 600 40200
S15/80 i | eur 535 | 15000 | 15000 | 20000 80000 600 40200 | +15+ 435
Ste15000/15/45. Sim 5120 15000 | 15000 | 15000 ' +15++35
Tr1-2510 | CCCP| 8 | 515 | 10000 | 10000 | 2500 | 8000 |  —50 — 50+ 455
TP1-6/15 CCCP 8 |5 |23 | 15000 | 15000 | 6500 | 20000 |  —30 450+ +35
TP1-15[15 [CCCP| 7 | 5,40 | 15000 | 15000 | 15000 | 47000  —100
TQ4 BB | 1 |57 | 10000 10000 | 1250 | 5000 --10+ 500 100--500 | 425455
TQS BB | 4 | 5/10 | 15000 15000 | 1250 | 7000 410+ —500 1001000 | 425+ 450
677 lamer| 5 | 510 | 10000 | 10000 | 4000 | 15000 |  —500 | 2501000 | 430+ 450
973 lamer| 6 |5 675/ 10000 | 10000 | 1250 | 5000 —500 430+ 480
3800 A LMT 5 |10 16000 | 1250 | 5000 +25+ 465
5563 int | 1 | 5| 75]15000 15000 | 1600 | 6000 | —75+ 500/ 1001000 | 425 450
5830 | GE 5120 | 10000 | 10000 | 12500 | 75000 | 2 —500 +15++40
5869 'Amp| 2 | 56513000 | 13000 | 1000 | 4000 |  —100 425+ 455
Equivalents
AGR-9950 Amp — 589 | DCG7100BPhl = DCG7/100 - Ux 973 amer = 973
BT 9 BTH = 5830 | FG 41 GE = 5830 WL 41 Wst = 5830
BT9 A BTH = 5830 | GRG 4 Ty = 677 4 amer = 5830
BT69 G BTH = BT69 | RG542GC Mul = BT 69 | 678 amer = 5563
CT 10-12 Mul = 5830 | RSQ15/40 Tif = S1540i | 759 amer = 5563
DCG 6/6000 Phl = 5869 | TP-20/15  CCCP = TP16/15 | 1702 Amp = 5563
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